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1. a) Find the intercepts of the equation, y + 3x + 4 = 0. 

2:40 PM - 4:00 PM 

SECTIONB 
(60 marks) 

Answer only THREE questions from this section. Show all workings clearly. 

[ 8 Marks] 

b) Draw the graph of the given equation using only its intercepts obtained in 1.a). 
[5 Marks] 

c) Solve for x in the following: 24 five+ I Ix =_I 7,en [7 Marks] 

2. a) The University of Cape Coast awards a grade any percentage score earned. The grades and the 
associated range of scores are shown in the table below. Use the table to answer the questions 
that follow. 

Grade A B+ B C+ C D+ D E 
Precentage 2: 80 75 - 79 70-74 65 -69 60-64 55 -59 50- 54 Less 
Scores than 50 

i) Is grade a function of the percent grade? Give reason for your answer. [ 3 Marks] 
ii) Is the percent grade a function of the grade-point average? Give reason for your answer. 

[3 Marks] 

b) If mtsn = mn + m + n, show that the operation /1 is associative on the set of real numbers. 
[10 Marks] 

c) Determine whether the following sets are equal or not. Give a reason for your answer. 

F={3, 5, 7, 9} 
G={ 5, 7, 9, 11} 
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3.a) In a certain class, students are allowed to do either Mathematics or JCT or both. The number of 
students who do Mathematics only is 14 more than those doing both Mathematics and ICT. The 
number of students doing ICT only is 5 less than the number doing Mathematics and ICT. The 
number of students doing Mathematics is twice those doing ICT. Find the number of students who 
do both Mathematics and ICT. [11 Marks] 

b) A manufacturer packed 3600 packets of drugs into 10 boxes. Find into how many boxes of the 
same size 5480 packets could be packed? [5 Marks] 

c) Sixteen is a certain per cent of 80. Find the percent. 

4. a) Find the value of x that satisfies the equation: z9x-3 = 83-x 

[4Marks) 

[6 Marks] 

b) '!'he income tax in a certain state is calculated as follows: 2% on the first Gh¢1000.00, 3% on the 
next Gh¢2000.00, 4% on the next Gh¢3000.00, and 5% thereafter. Find the tax to be paid by an 
individual who earns an income of Gh¢25000.00 per month. [9 marks) 

c) Find the value of x if (x-1): (2x + 7) = 1 :3 [5 marks] 

) 
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